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FOREWORD

The Certificate of Secondary Education Examination (CSEE) marks the end of the
four years of secondary education. It is a summative evaluation which among other
things shows the effectiveness of the education system in general and education
delivery system in particular. Essentially, the candidates’ responses to the
examination questions is a strong indicator of what the education system was able
or unable to offer to the candidates in their four years of secondary education.

This Examiners’ Report on the Performance of Candidates in Commerce for the
CSEE 2014 has been prepared so as to provide feedback to students, teachers,
parents, policy makers and the public in general on the performance of the
candidates.

The analysis presented in this report is intended to contribute towards the
understanding of some of the reasons behind the performance of candidates in
Commerce subject. Thus the report highlights some of the factors that made the
candidates perform well in some of the questions. Such factors include managing to
identify the task of the questions, ability to adhere to the questions demands and
enough knowledge and skills on concepts related to the subject. On the other hand,
the report highlights the factors that made candidates to score low marks in some of
the questions. Such factors include lack of knowledge and skills on the concepts
related to the subject, misconceptions, inability to identify the question demand and
inability to express themselves in English Language. The feedback provided will
enable the educational administrators, school managers, teachers and students to
identify proper measures to be taken in order to improve candidates’ performance in
future examinations administered by the Council.

The National Examinations Council of Tanzania will highly appreciate comments
and suggestions from teachers, students and the public in general that can be used
for improving future Examiners’ Reports.
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Finally, the Council would like to thank all the Examination Officers, Examiners
and all who participated in the preparation of this report. We would like also to
express sincere appreciation to all staff members who participated in analysing the

data used in this report.
A

Dr. Charles E. Msonde
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1.0

INTRODUCTION

This report analyses the candidates’ performance in Commerce
examination for the candidates who sat for Certificate of Secondary
Education Examination (CSEE) in 14™ November 2014. This paper was
attempted by both school and private candidates.

The paper consisted of ten (10) questions categorized into three sections,
namely section A, B and C. Section A consisted of 2 (two) questions each
carried 10 marks. Section B consisted of four (4) short answer questions
each carried 10 marks. Section C consisted of four (4) essay questions
each carried 20 marks. Questions in section A and B were compulsory
while in section C candidates were required to answer only two questions.

A total of 17,358 candidates sat for this examination. The results show that
5,952 candidates (34.29%) passed with the following grades: grade A 5
(0.03%), grade B" 332 (1.9%), grade B 929 (5.4%), grade C 1,666 (9.6%)
and grade D 3020 (17.4%). However a total 11,404 (65.7%) candidates
failed the examination by obtaining the following grades: grade E 4,683
(27%) and 6,721 (38.7%) obtained grade F. This performance shows an
increase of 4.8 percent of the candidates who passed the examination in
2014 as compared to 2013 Examination where 29.49 percent of the
candidates who sat for the examination passed and (70.51%) percent
failed.

The performance of the candidates in each question is categorized as good,
average and weak. The pass rate for each question was 30 percent and
above of the marks allocated. The candidates who scored an average of 50
to 100 percent fall under good category, those who scored from 30 to 49
percent fall under an average category while those who scored from 0 to
29 percent fall under weak category. The candidates’ performance is
summarized in the appendix attached where by green colour represents
good performance while yellow and red colours imply average and weak
performance respectively.

This analysis presents the requirements of each question, the performance
of candidates and the reasons for their performance. Some extracts
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2.0

obtained from the candidates’ examination scripts are inserted to illustrate
the reported cases.

Analysis of Performance of Candidates in Each Question

1.1

Question 1: Multiple Choice

This question consisted of ten (10) multiple choice items which
were composed from various topics of the syllabus. The topics
involved were; Marketing, Business Units, Trade document
Transportation and Production. The question had a total of ten
(10) marks and each item carried 1 mark.

The question was attempted by 98.1 percent of the candidates of
which 4 percent scored a 0 mark, 75.3 percent scored from 1 to 4
marks and 20.7 percent scored from 5 to 9 out of 10 allotted marks.
Generally the performance in this question was good.

The items which were well performed by most of the candidates
were (1), (iii), (vi), (ix) and (x). This shows that the candidates had
adequate knowledge on topics in which they were sat from hence
managed to identify the correct responses from the distractors
given. Items which were not answered correctly by most of the
candidates were (iii), (v) and (viii).

In item (iii), the candidates were required to identify a method used
by the government to protect customers from the following five
given alternative.

A Fixing minimum prices

B Fixing maximum prices

C  Fixing minimum profits

D Fixing maximum profits

E  Fixing minimum and maximum prices

Most of the candidates opted for (A) Fixing minimum prices which
was not correct response instead of (B) Fixing maximum prices.
These candidates were attracted by the words minimum prices they
failed to differentiate between minimum price and low prices
therefore they assumed that customers can be protected when the
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prices of the goods and services are low. The low prices did not
mean the same as minimum prices. Candidates who opted for (C)
Fixing minimum profits thought that if goods are sold at minimum
profits customers can buy them at low price but goods can be sold
at minimum price while its price is too high. Furthermore,
candidates chose (D) Fixing maximum profits did not know that it
is not the task of the government to set the amount of profits the
seller can get from selling goods or services. Also those candidates
who opted for (E) Fixing minimum and maximum prices failed to
realise that the government normally fix minimum prices and
maximum prices to protect both customers and producers.

In item (v), the candidates were required to identify the best
alternative from the given list of alternatives on a document which
is used by a buyer to get information from the seller. The question
was: Which one of the following documents is used by a buyer
together information from the seller?

(A) An order

(B) An invoice

(C) A statement

(D) A delivery note

(E) An inquiry

Majority of the candidates opted for a wrong alternative (C) A4
statement instead of (E) An inquiry. These candidates failed to
differentiate different documents and their functions as used in
trade particularly in home trade. Candidates who chose (A) an
order failed to realize that an order is prepared by the buyer
requesting the supplier to deliver a certain goods at their prices
indicated therein and it is prepared when the buyer is satisfied with
the information obtained from an inquiry. Candidates who opted
for (B) an invoice failed to recall the meaning of an invoice and
compared it with the demand of the question, an invoice act as a
notification prepared by a seller and dispatched to the buyer
requiring him/her to pay for the goods supplied to him/her.
Furthermore, candidates who opted for (D) a delivery note
confused the uses of an inquiry form that of delivery note. Delivery
note is issued to the buyer by the seller to provide her/him with the
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1.2

details of the goods ordered and the buyer has to sign to show that
the goods have been received while an inquiry is issued by the
seller to a prospecting buyer to allow him/her to get information on
the goods or services he/she intends to buy.

In item (viii), the candidates were required to choose from the
given alternatives the function of a debit note. The question was
A debit note is used to correct

(A) Undercharge on an invoice

(B) Overcharge on an invoice

(C) Undercharge on a statement

(D) Overcharge on a statement

(E) Undercharge on an order

The correct answer was A undercharge on an invoice but most of
the candidates chose B overcharge on an invoice which is not
correct because it defines a credit note. This shows that those
candidates who opted for such option were confused by the two
terms debit note and credit note with the description given in
alternative A and B hence failed to differentiate the definitions of
the terms. Candidates who opted for (C) related the response with
one of the document used in home trade called statement of
account which is sent by the seller to the buyer giving a summary
of all transactions that a seller had with a buyer over a specified
period of time while those who opted for (D) also had an idea on
the documents used in home trade but they failed to realize that, the
document is already stated in the stem of the question the task was
only on its uses. The candidates who opted for (E) failed to
differentiate an order from an invoice. Therefore all who responded
wrongly to the question lacked knowledge on the meaning of
different documents used in home trade.

Question 2: Matching Items

The question consisted of ten (10) matching items. These items
were drawn from the topics import and export trade. The
candidates were required to match the descriptions in column A
with the terminologies in Column B by writing the letter of the



correct response besides the item number in the answer booklet
provided.

This question was attempted by 98.1 percent of the candidates
from which 22.1 percent scored 0 mark, 66.9 percent scored from 1
to 4 marks while 11 percent scored from 5 to 10 allotted marks.
The general performance was average. The items which were
wrongly answered by most of the candidates were (i), (vi), (vii)
and (ix).

In item (i), the candidates were required to identify a document
which is used by an importer to request an exporter to supply the
listed goods. Most of the candidates responded incorrectly by
matching it with B letter of inquiry instead of C Indent which was
the correct response. They confused the uses of letter of inquiry
from the use of indent.

In item (vi), the candidates were required to identify a document
sent in advance of the goods being exported to enable the importer
to prepare the payment of duty before the arrival of goods. The
correct answer was “O” proforma invoice but the majority of the
candidates matched it with the term “K” consular invoice. Such
candidates were attracted by the word invoice hence failed to
differentiate the terms. Proforma invoice is an ordinary invoice
which does not bill the buyer to pay, it only helps the buyer to
prepare the payment for the goods while a consular invoice is a
document issued by a representative of the consulate of the
importing country before goods leave the country of origin. It
shows that the price quoted for the goods imported is fair to both
parties. Others candidates who opted for “I” Letter of Credit were
attracted by the word fo pay which appeared in the meaning of both
terms letter of credit and proforma invoice.

In item (vii), the candidates were required to identify the correct
response for the sentence a document from an importer’s bank
requesting a bank in a foreign country to pay an exporter on behalf
of the importer. The correct response to be matched with the
sentence was “I” Letter of credit, but most of the candidates
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1.3

matched it incorrectly with “F” Letter of hypothecation. These
candidates failed to differentiate the two terms due insufficient
knowledge on documents used in international trade.

In item (ix), the candidates were required to match the statement
which read a document authorizes sale of goods in a foreign
country if the payment on bill of exchange could not be obtained
from the importer with a correct response which was “F” Letter of
hypothecation. Majority of the candidates responded by writing “I”
Letter of credit which was not correct. These candidates failed to
recall the meaning of the term “Letter of hypothecation” hence
they confused it with “Letter of credit”.

Question 3: Stock Administration and Business units

The question had two parts (a) and (b). In part (a) candidates were
required to complete the given table with correct figures from item
(1) to (vi). In part (b) candidates were required to calculate:

(1) Current ratio (ii)) Quick ratio

(iii) Debtor’s as percentage to sales and (iv) Creditor’s as
percentage to purchases from the data given.

This question was attempted by 98.1 percent of the candidates out
of which 41.8 percent scored a 0 mark, 47.2 percent scored from
0.5 to 4.5 marks and 11 percent scored from 5 to 10 marks. The
general performance in this question was weak.

The candidates who performed poorly in both parts (a) and (b) of
the question failed to recall and use correct formula in calculating
the required answers due to lack of knowledge. Those who scored
0 mark failed to apply correct formulae and to perform simple
mathematics of adding or subtracting numbers for example, some
of the candidates presented wrong formulae in all items in part (a)
as (1) “owners equity = current liabilities — liabilities

= 30,000 — 180,000

=150,000
(ii) Working capital = current assets + owners equity
(iii) Fixed Assets = current assets — current liabilities

’

(iv) Current liabilities = owners equity + long term liabilities.’
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This indicated that they totally lacked knowledge and skills on the
items tested. Among the candidates who scored a 0 mark, some
copied the question without completing the table, others were only
able to compute working capital correctly hence scored 1 out of 10
allotted marks. Likewise some candidates managed to show correct
formulae but they failed to apply them in calculating the required
items.

The problems which have been noted to majority of the candidates
who score a 0 mark in part (b) (i) and (ii) were: failure to identify
current assets and current liabilities from the information given,
application of incorrect formulae, and poor knowledge in simple
mathematics. Apart from that, others candidates who scored a 0
mark had skipped the question which was compulsory. Extract 3.1
is a sample of an incorrect answer from one among the candidates
who applied incorrect formula in item (i) and (ii) and copied some
of the figures from the data given from the question as the answers
for item (iii) and (iv).

Extract 3.1
02 1CBY (1)) Curvent  valien o @Vdive ek & Quidhases.
Cuviewk  valk{an - GO0 000 g g0e 00
ey ek valen ~ \%@@0

o (h}(“)l a-urc\ﬁ Velton = Cyefikers X Sl ablae e

C’_ﬂgw\c‘\@ vellfe = \Oo,("mo )\'QC‘OIOC’O

P Yoavow = oo, QOO .

ot (‘0‘)(\!"]3 ‘}o\()‘ro"‘{ qg & (ar'_vgc,m\"\qtvr \(b Sale = ‘8@[1%0‘

C IO credhorts a5 g Poccutaga o el eser 2 20000

Extract 3.1 presents a sample of incorrect response from a
candidate who scored a 0 mark.
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However, the candidates who managed to score at least 2 marks
performed well in item (iii) and (iv) in part (b). They had
knowledge and skills on how to calculate debtors as percentage to
sales as well as creditors as percentage to purchases. In this case
the issue was to identify the appropriate formulae since all data
were shown in the description of the question. Extract 3.2 presents
a sample of one among the candidates who scored low marks
because he/she applied wrong formulae both in part (a) and (b) and
Extract 3.3 shows a sample of response from a candidate who
completed the table with incorrect figures in part (a) and also
attempt only one part in part (b) of which he/she failed to apply the
correct formula resulting into incorrect answer.

Extract
3.2
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Extract 3.2 shows a sample of poor response from one among the
candidates who failed to apply appropriate formulae to answer
the question in part (a) and (b).

Extract 3.3

Q.Z(L“' ETW'@: j C(/'r. 46:! fcw'!’gT({ P LY ("uv,ud UIN'L“J e
ordh | b [eabildes foako ke f_,‘_“}q  (apy N
00 (0 [—C’r X0 Socr) oot W ,\([c:()( X j,}, GRS
{00 SO ; ] /
@1 {000 1263 000 | Goce W o (3w | feee
5,1,?90(:” _{ UQ(:O 1w Qq,cg(__-,,-,o f4{ 00 Sex e /&"i\( i

LF v N 7 ~f ot
-f( @;) ﬂ ' / U b el (o
€ <

R ING Y,
Croce = et = 4"“""‘

7

Extract 3.3 represent a responses from one among the candidates
who scored a 0 mark. He/she completed the table with incorrect
figures and attempted only one item in part (b).



The candidates with an average score in this question were able to
compute item (ii), (iv) and (v) in part (a) and (iii) and (iv) in part
(b) correctly.

The high scores ranged from 6 to 10 marks. Those who scored 10
out of 10 allotted marks, were able to compute correct responses to
be filled in the table in part (a) by providing the correct response
from item (i) to (vi) as shs 150,000, 30,000, 390,000, 45,000,
240,000 and 225,000 respectively. They also managed to calculate
ratios and percentage required in part (b) correctly using
appropriate formulae. Others who scored from 7 to 8 marks
performed well in all items in part (a) with exception of item (i)
and (vi) and scored full marks in part (b). Extracts 3.4 and 3.5
illustrate samples of candidates’ good responses in part (a) and (b)

Extract 3.4
v

(@ [F1 e [CurrenT [IoVe Teed [CURRENT JOUNER [LorkiNg
ACETS [RCETS IMARLITE LWARILITIE [EQUITY  [CAPITAL :
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. ]
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i

I}
v ; {
4€0,000 [24D, 000 235,000 {145,000 300,000 } U5 000

Extract 3.4 illustrates a sample of a good response from one among
the candidates who managed to complete the table with the correct
figures in part (a).
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Extract 3.4
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Extract 3.5 indicates the candidate managed to compute current
ratio, quick ratio, debtors as percentage to sale and creditors as
percentage to purchases in part (b).

Question 4: Scope of Commerce and Production
The question had two parts; (a) and (b). In part (a) the candidates
were required to enumerate five ways in which the community

benefits from learning business studies while in part (b) the
11



candidates were required to state five differences between direct
and indirect production. The question was attempted by 98.1
percent of the candidates whereby, 21.4 percent scored a 0 mark,
67.7 percent scored from 0.5 to 4.5 marks and 10.9 percent scored
from 5 to 10 marks. Generally the performance was average.

Candidates who managed to score 5 marks and above were able to
enumerate at least two ways in which the community benefits from
learning business studies in part (a) and managed to differentiate
direct production from indirect production in part (b). However
some candidates in this group failed to score full marks due to
some weakness such as providing partial answers. Extract 4.1
indicates one of the correct answers in part (a) as drawn from one
of the candidates’ scripts.

Five ways in which the community benefit from learning
business studies:

(i) To understand basic terminologies used in business
as well as various contracts which might take
place in the business.

(i) To understand and being aware of the role of
business in society.

(iii)To acquire skills and knowledge that will help to
identify and exploit business opportunities in the
society.

(iv)To acquire skills that is important in business
performance evaluation.

In extract 4.1 the candidate was able to enumerate
five ways in which the community benefits from
learning business studies correctly.

Other candidates who performed poorly in part (a) misinterpreted
the question and responded on the ways which can enable the
candidates to perform well in business studies hence provided
responses like: “By making revision, by making exercise and by
studying books”. Others responded on the points which look like
the advantages of business to the society hence provided the point:
help to increase love, help to visit other country and bring buyer
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and seller friends.” Some of the candidates wrote irrelevant
responses which did not relate with the question such as: “profoma
invoice document, importer’s bank good certificate or origin, it
prepared by a diplomat the showing pices”. Extract 4.2 shows a
sample of poor response from one of the candidates who answered
the question contrary to its demand.

Extract 4.2

A Enuw»eouxe. %w L2OYUS 10 wﬂucﬂ« Cowwum}a
; -
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fl?% Mo e //zué{ Scerci§ e

Yo (Qi‘uo?gwﬂ‘# go@ Jeg
V) v U

Extract 4.2 indicates a sample of a poor response from a candidate
who responded on the ways to improve the performance in
business studies instead the ways in which the community benefits
from learning business studies.

Furthermore, other candidates had an idea of what was asked but
they presented their answers in illogical way in both part (a) and
(b). Extract 4.3 represents poor responses from one of the
candidate who understood the question but failed to present the
answer correctly in part (a)
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Extract 4.2
4
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Extract 4.2 illustrates poor response from a candidate who failed to
presents the answer in good English language though he/she had an
idea of the requirement of the question.

In part (b) the candidates were required to differentiate direct
production from indirect production. This part was averagely done
by most of the candidates. Some candidates managed to provide
the correct response as per demands of the question. Their
responses were: production in direct production is not for exchange
while production in indirect production is for exchange, in direct
production goods produced are of low quality compared to that of
indirect production, limited use of modern inputs is observed in
direct production but in indirect production there is great use of
modern inputs, production is usually in small scale in direct
production while in indirect production, production is usually in
large quantity and specialization is not possible in direct
production due to the number of labour involved but specialization
and division of labour is possible in indirect production in
production process. Extract 4.3 presents a sample of good response
from a candidate who had sufficient skills and knowledge about
direct and indirect production.
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Extract 4.3
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Extract 4.3 depicts one of the correct answers extracted from the
script of one the candidate who managed to state clearly the
difference between direct from indirect production.

However, some candidates who performed poorly in this part had
insufficient skills and knowledge on the sub topic tested. Some of
them failed to differentiate production from direct services
whereby direct services is a branch of production hence,
differentiated production from direct services. They also cited out
some auxiliary services which falls under commerce as a branch of
production. Such auxiliary services mentioned were insurance,
transportation, warehousing and banking of which they counted
them as indirect production which was incorrect. Furthermore other
candidates pointed out some examples of direct services providers
such as doctors, teachers, lawyers and police as direct production.
In addition, some candidates stated some features of sole
proprietorship and that of partnership. Such candidates did not
understand the demands of the question. Extract 4.4 shows a
sample of response from a candidate who performed poorly in all
parts (a) and (b).
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1.5

Extract 4.4

L/ ayv 2> ’/Tan‘f enrt

17 Mprby

) Mirbeliog

#7  loGuarapce

VY |ptecnafion traddf

by direct o dice ot
L0 Courag e(rpecilizabion) \[afe mode of tradcrord
| o (ourbia, %raaf,ﬁ — B inaeiCe

e hay MI}&} Lol does mot |imited Lalil; by
o L‘Hf&c&.{ﬂﬂ M lze € c&edxf}’cn
-#’é malel deiiionm [Lo}-fﬁ, olfer (o- Partrer
With offier (O-paral He oid not are kudineus
+He birti pasc baWue , )mu o ot el l?qa/ ['1‘}’
Licoited) lega) Lifo bl

Extract 4.4 illustrates the response from a candidate who
performed poorly by writing different commercial terms in part (a)
and irrelevant points in part (b) from which some of them were
drawn from a business units topic.

Question 5: Whole Sale Trade and Production

The question had two parts (a) and (b). In part (a) candidates were
required to explain services that are rendered by middlemen to
producers in the chain of distribution while in part (b), they were
required to mention factors that may inhibit entrepreneurial
development in a country.

The question was attempted by 98.1 percent of the candidates of
which 44.6 percent scored 0 mark, 51.5 percent scored from 0.5 to
4.5 marks and 3.9 percent score from 5 to 8 marks out of 10
allotted marks.

Candidates who scored a 0 mark failed to understand the question
in part (a) hence related the word services from the question with
different services that can be offered to the public. This made such
candidates to explain the services such as “protection and security,
education, equal rights, doctors who treat people and engineers
who construct buildings.” Others drew a channel of distribution
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chart and mentioned the parties that are involved in the distribution
channel such as manufacturer/producer, wholesaler, manufacturers’
shops, large scale retailer and the final consumer of which were
incorrect. Majority of the candidates in this category explained the
services rendered by retailers to the final consumers. Extract 5.1 is

a sample of poor response from a candidate who had a negative
conception on the question.

Extract 5.1
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Extract 5.1 is a sample of poor response from one among the
candidates who perceived the word “services” in different way as

used in the question. He/she mentioned the direct services
providers.

Candidates who scored from 1 to 3 out of 5 allotted marks failed to
explain the services correctly and others were able only to mention
the services without giving explanations. Those who scored 4
marks managed to explain four points correctly as reducing the
number of risks, act as a source of information, provide transport
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facilities and offer storage facilities but they failed to explain other
services such as offer advice to producers, looking for the market
for the products and branding the goods. Extract 5.2 present a
sample of relatively good answer from one of the candidates.

Extract 5.2
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Extract 5.2 presents a sample of relatively good response from a
candidate who managed to explain briefly four services out of five
such as storage facilities, source of information, offer transport
facility and reducing him from number of risks.

On the other hand, some candidates who scored a 0 mark in part
(b) mentioned some of the characteristics of an entrepreneur such
as a decision maker, independent, hard-working, and a risk taker
instead of mentioning factors that may inhibit entrepreneurial
development in a country. Others candidates mentioned the
functions of an entrepreneur as to start business, to employ other
factors of production such as land, labour and capital, to look after
production, to sell the goods, to pay other factors of production
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1.6

and to be responsible in profits and losses instead of mentioning
factors that may inhibit entrepreneurial development in a country.
Similarly, other candidates responded on the factors of production
such as land, labour, capital and entrepreneur while some
candidates misinterpreted the question and responded on some
factors that facilitate general development in a country such as by
Stopping corruption in a country, opening business companies to
create employment, government ensure availability of different
services for example transportation and communication and
government to supply work.

Candidates who scored low marks managed to mention at least two
factors that inhibit entrepreneurial development in a country.
Majority of the candidates in this group mentioned lack of skills
and knowledge and poor government support. These points
attracted these candidates because it was easy to associate them
with the reality. Most of the citizens lack entrepreneurial skills due
to low level of education.. Extract 5.3 illustrate a sample of a
candidate who provided poor response in part (b) due to
misinterpretation of the question.

Extract 5.3
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Extract 5.3 is a sample of responses from a candidate who wrote
some functions of entrepreneur instead of the factors that inhibit
entrepreneurial development in a country.

Question 6: Insurance and Production

The question had two parts; (a) and (b). In part (a) candidates were
required to outline five factors which may determine the amount of
premium paid by an insured and in part (b) candidates were
required to give five ways in which land is useful as a factor of
production.
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The percentage of candidates who attempted this question were
98.1 of which 34.7 percent scored a 0 mark, 62.1 percent scored
from 0.5 to 4.5 marks, and 3.2 scored from 5 to 8 marks which was
the highest marks in this question. This question was generally
poorly performed since 82.3 percent of the candidates scored
below 3 out of 10 allotted marks.

Part (a) of this question was skipped by most of the candidates and
few who attempted it scored a 0 mark because they responded by
mentioning some of the documents used in insurance such as
policy, cover note and certificate of insurance instead of outlining
the factors used to determine the amount of premium to be paid by
an insured. These candidates either did not understand the question
or lacked knowledge or both.

In addition some candidates outlined the procedures to be
undertaken by a customer who wish to take insurance a contract
with insurance company. This shows that such candidates didn’t
understand the question therefore they decided to write from their
own perceptions. Likewise, some candidates mentioned the
principles of insurance

There were also some candidates who managed to outline at least
two out of five factors required. Some of these factors include the
value or sum of the property insured the place where the property
is located, and the age of the property. Other factors to consider
were: the statistical records, level of precaution and the type of risk
to be insured. Those factors were outlined by majority of the
candidates who attempted this part. Extract 6.1 demonstrates a
sample of a poor response presented by one of the candidates who
performed poorly in part (a).
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Extract 6.1
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Extract 6.1 is a sample of responses from a candidate who failed to
outline the factors used to determine the amount of premium to be paid
instead he/she mentioned some documents used in insurance.

Despite of poor performance in part (a) some candidates managed
to score at least 3 out of 5 marks allotted in this part. Some
managed to mention five factors correctly but failed to provide
correct explanations to some of such factors. Moreover, others
outlined only three factors with correct explanations. Extract 6.2
present a sample of a candidate with relatively correct answer.
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Extract 6.2
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Extract 6.2 indicates the responses one of the candidate who
managed to mention all factors correctly though some explanations

were incorrect to some of the points.

Part (b) was attempted by majority of the candidates but their
performance was poor too because they failed either to understand
the task on the question or they did not have sufficient knowledge
on what the question demanded them to do. Most of the candidates
thought that they were required to list other factors of production
apart from land therefore they mentioned labour, capital and
entrepreneur and give the reward on each factor such as wage,
interest and profit respectively. Similarly some candidates who
misinterpreted the question mentioned the ways in which land can
be made fertile for crop production.
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Nevertheless, some of the candidates outlined the feature of land as
it is a gift from God, immovable asset and its value always
increases. Extract 6.3 shows a sample of incorrect response from
one of the candidates who misinterpreted the question.

Extract 6.3
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Extract 6.3 shows a sample of poor answer from one of the
candidates who outlined points on how land can be made fertile for
crop production instead of mentioning the ways in which land is
can be used as a factor of production.

On the other hand, some candidates who scored from 3 to 5
allotted marks in part (b) were able to provide at least not less than
three ways required in the question correctly. Some of the answers
provided include provision of space on which production takes
place, raw materials, water for production and all major source of
energy. Extract 6.4 a shows relatively good responses of candidates
who managed to meet the requirement of the question.
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1.7

Extract 6.4
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In extract 6.4 the candidate managed to give relatively correct
response to the question, this shows that, a candidate had
sufficient knowledge on the factors of production particularly
land.

Question 7: Marketing and Management and Organization
The question had two parts, (a) and (b). In part (a) the candidates
were required to discuss by giving five relevant points to support
the roles played by sales promotion in commerce while in part (b)
the candidates were required to describe six possible ways which a
manager can use to motivate his employees to work hard and create
business for the hotel.

The question was attempted by 67.4 percent of the candidates out
of which 22.1 percent scored 0 mark, 71 percent scored from 0.5 to
5 marks, 6.7 percent scored from 5.5 to 10 marks and only 0.2
percent scored from 10.5 to 12 out of 20 allotted marks. The
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highest score in this question was 12 marks. This was among the
least opted question.

Some candidates who attempted this question failed to either
understand its requirements or lacked skills and knowledge on the
subtopics examined or both. Party (a) was highly skipped by a
good number of candidates.

Some candidates who scored a zero mark discussed some of the
points which relate with disadvantages of sales promotion such as
reduction of the quality of goods and increase the price. In
addition, other candidates discussed some of the points which are
related to the advantages of sales promotion to sellers of the
commodities such as to get: income and capital which were
incorrect.

Moreover, candidates who scored low marks were able to provide
partial explain on labour and taxation which were correct responses
but failed to give clear explanations on such points. This can be
attributed to poor understanding of the question and incompetence
on the subtopic of advertisement together with poor use of English
Language. Extract 7.1 describes a response from a candidate whose
explanations based on the importance of commerce.
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Some candidates who fall under the category of poor performers in
this part listed down the importance of commerce because they
were attracted by the words “important roles in commerce’ from
the question hence instead of giving roles played by sales
promotion they provided roles of commerce. Furthermore, other
candidates wrote meaningless sentences which were also presented
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1

Extract 7.1 indicates a poor response from one of the candidates
who misinterpreted the question by responding to the importance
of commerce instead of the important roles played by sales

promotion in commerce.

in poor English Language as extract 7.2 below illustrates.
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Extract 7.2
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Extract 7.2 illustrates the poor response from one of the
candidates who wrote irrelevant sentences.
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However, there were some candidates who manage to discuss three
points correctly among the following: revenue to the government,
lowers price and creation of employment. They managed to discuss
the points correctly because it is to relate the high sales caused by
sales promotion with paying tax to the government from such
sales. Also it was easy for the candidates to discuss the point of
lower price because probably the experienced from different
advertisement/ market that when goods are sold at promotion are
sold at price below their normal selling price. Other correct
responses which were not discussed by most of the candidates
were: high quality of the product, price stability and affordable
prices. Extract 7.3 shows a candidate who mentioned at least three
points correctly even though some of the descriptions were not
correct.
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Extract 7.3 shows a sample of answer from a candidate who
managed to respond on the question by mentioning 3 points out of
5 required correctly but failed to provide correct descriptions. The
points mentioned were; taxation, government revenue and labour.

In part (b), some candidates misunderstood the question. Instead of
describing possible ways which the manager can use to motivate
his employees to work hard and create business for the hotel they
explained the functions of management such as co-coordinating,
planning, directing, staffing, controlling and organizing.
Furthermore, other candidates explained the qualities of a good
manager as he must be cooperative and trustworthy. Others
explained on how a manager looks like in appearance. In addition
to that some candidates explained on the factors which encourage
managers in performing their business as “peace, harmony,
respect, cooperation, love, and rules and regulation”. Extract 7.4
shows a sample of a poor response from one of the candidates who
responded on management functions instead of the possible ways
in which a hotel manager can motivate his employees.
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Extract 7.4
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Extract 7.4 indicates a poor response from a candidate who
explained the functions of management such as planning,
controlling, staffing, directing and coordinating instead of
explaining ways of motivating workers working in a hotel.

Candidates who performed relatively well managed to describe

ways through

which managers can motivate his/her employees.

Some of these ways include opportunities for promotion and
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further training, increase in wages, provision of social services,
further training, increase in wages, well defined schedule detailing
the working shift of the staff and overtime hours together with
recognition. Extract 7.5 illustrates a sample of relatively good
answer from a candidate who tried to explain the ways in which a
hotel manager can motivate his employees.

Extract 7.5
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Extract 7.5 illustrates relatively good response presented by one of
the candidate who describing the ways in which hotel manager can
motivate his employees.
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1.8

Question 8: Production and Business Units

The question had two parts; (a) and (b). In part (a) the candidates
were required to describe five factors that should be considered
before establishing new industries while in part (b) the candidates
were required to explain five benefits enjoyed by the public.

The question was attempted by candidates 61.2 percent of the
candidates of which 9.1 percent scored a 0 mark, 56 percent scored
from 0.5 to 5 marks, 29.8 percent score from 5.5 to 10 marks. 4.7
percent scored from 10.5 to 15 marks and only 0.4 percent scored
from 15.5 to 19.5 out of 20 allotted marks. This question was
poorly done since 92.9 percent scored below 10 of out 20 allotted
marks.

Majority of the candidates (92.9%) failed to score half of the marks
allotted. In part (a) most of the candidates lacked skills and
knowledge on the question and hence deviated from the
requirements of the question by explaining the factors of
production such as land, labour, capital and entrepreneur. Some
mentioned different type of goods produced from different
industries while others explained on types of industries such as
extractive, constructive and manufacturing industry because the
failed to identify the task and the word industries which found in
the question attracted them to respond on the types of industries. In
addition some candidates who scored a 0 mark in this part
explained on the points which relate to some of the steps necessary
to be observed before establishing new industries such as:
registration, insurance, viable environment, management and
security which did not answer the question. Some candidates also
went astray by mentioning the factors to be considered when
choosing means of transport. Extract 8.1 reveals one of the
incorrect responses from one of the candidate and Extract 8.2
presents a poor response from a candidate who explained some
steps follow before establishing new industries.

32



Extract 8.1
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Extract 8.1 is a sample of a poor response from a candidate who
mentioned some factors to be considered before choosing means
of transport such as distance, speed/urgency and accuracy on
which he/she copied some of the sentences from question 2 and 9

(b).
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Extract 8.2
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Extract 8.2 illustrates a sample of a poor response from a
candidate who explained some steps to be followed before
establishment of new industries instead of the factors.
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On the other hand, most of the candidates who score from 5 to 9
out of 10 marks allotted in this part were able to describe at least
that three factors are to be considered before establishing new
industries such factors include availability of raw materials, cheap
labour, good infrastructure, presence of market, power supply
while others were explained more than three points correctly.
These factors were explained by majority because they are key
factors to be taken into account before establishing an industry.
The correct points which were not described by majority of the

candidates were: room for expansion, government policy and cost
of land.

In part (b) the candidates who scored a 0 mark lacked knowledge
on public companies. They responded to the question wrongly by
explaining different type of companies and documents necessary
for the formation of the companies. Furthermore, others explained
on the advantages of non-governmental organization and
governmental organization to the public. Extract 8.3 shows a
sample of the response from a candidate who failed to meet the
requirements of the question.
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Extract 8.3
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The candidates who performed well in part (b) managed to explain
the benefits enjoyed by the public companies such as /limited
liability, economies of scale, issuing several types of shares, large
capital base, continuity, free transfer of shares and management by
directors. Extract 8.4 illustrates a relatively good response from a
candidate who managed to explain four benefits out of the required

five.

Extract 8.3 is a sample of a poor response from a candidate who
responded on non-profit making organization instead of the

benefits enjoyed by the public companies.
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Extract 8.4
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1.9
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Extract 8.4 demonstrate a sample of good answer from one of the
candidates who managed to explain the benefits enjoyed by public
companies correctly.

Question 9: Wholesale Trade and Banking

This question had two parts (a) and (b). In part (a) candidates were
required to justify the existence of wholesaler in a commercial
system such as that existing in Tanzania and in part (b) they were
required to describe circumstances that a bank will dishonor a
cheque even if the drawer has enough money in his account.

This question was attempted by 66.3 percent of the candidates out
of which 10.2 percent scored a 0 mark, 33.1 percent scored from
0.5 to 5 marks, 39.5 percent scored from 5.5 to 10 marks, 16
percent scored from 10.5 to 15 marks and only 1.2 percent scored
from 15.5 to 19.5 out of 20 allotted marks. Generally the
performance in this question was good.

The candidates with high scores in this question had sufficient
skills and knowledge on the subtopic. In part (a) the candidate who
performed well managed to identify the task and responded on it
accordingly by explaining the reasons for the existence of
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wholesaler in a business. Some candidates managed to explain the
reasons such as source of information, provide financial help to
both manufacturers and retailers, storage facility, provide transport
facilities and the existence of small scale retailers. However some
of them failed to explain some of the reasons correctly and
therefore failed to score full marks. Similarly, other candidates
explained only two points out of five and mentioned the rest
without explanations. Extract 9.1 presents good answer from one
of the candidates who performed well in part (a).

Extract 9.1
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Extract 9.1 demonstrates a good response extracted from the script
of a candidate who managed to justify why wholesalers cannot be
eliminated.

The candidates who performed poorly in part (a) did not
understand the requirements of the question. This made some
candidates to list the parts which are normally involved in channel
of distribution such as producer, wholesaler, large scale retailer,
small scale retailer and final consumer. Moreover, others
responded negatively by explaining why wholesaler can be
eliminated. Some of the incorrect responses provided by those
candidates were: if the manufacturer sells directly to retailers, if
retailers have large capital to operate their business and if good of
manufacture are branded and standardized. Other candidates
skipped this part and answered part (b) only.
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Extract 9.2
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Extract 9.2 shows a sample of a response from a candidate who
responded on the reasons for eliminating wholesaler instead of
justifying the reasons for the existence of wholesaler.
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However, majority of the candidates who performed well in part
(b) managed to describe circumstances under which a bank will
dishonor a cheque even if a drawer has enough money in his
account. Such circumstances are if: a drawer instructed the drawee
(bank) not to honour the cheque, the cheque has an error on it, the
cheque is a stale, cheque is posted-dated and the cheque is not
signed by the drawer or if the signature differs from the specimen
held by the bank. Extract 9.3 is a sample of a good response from a
candidate who performed well.

Extract 9.3
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Extract 9.3 is a sample of a good response provided by the
candidate who managed to describe the circumstances under which
a cheque can be dishonoured even if the drawer has enough money
in his account.

On other hand, candidates who performed poorly in part (b) did not
understand the question and also had insufficient knowledge on
banking topic. Some of them related the question with parties of
cheque, hence responded by explaining on drawer, drawee and
payee which were incorrect responses. Moreover, some candidates
understood the question but they had explained only one point as
different points, the point was, if the cheque has an error on it.
They described it as three points: when there is: different name,
different amount and different in shillings. The other problem
noted was poor mastery of English language, for example one
candidate intended to write if a cheque had been lost but wrote it as
when the cheque is kupotea.

Other candidates with low marks described the quality of good
money due to poor interpretation of the question. Probably they
were attracted by the word money from the question. The
responses provided were: acceptability, portability, divisibility,
scarcity and durability. Extract 9.4 displays a sample of incorrect
response provided by one of the candidates whose responses based
on the qualities of good money but provided incorrect descriptions.
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Extract 9.4
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Extract 9.4 is a sample of a poor response given by one of the
candidates who performed poorly by mentioning qualities of good
money with incorrect descriptions.
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1.10

Question 10: International Trade and Business Units

The question had two parts (a) and (b). In part (a) the candidates
were required to explain methods used by a country to control
imports and in part (b) candidates were required to critically
analyse the disadvantages associated with sole proprietor ships.

The question was attempted by 55.6 percent of the candidates of
which 13.8 percent scored 0 marks, 41.9 percent scored from 0.5 to
5 marks, 27.2 percent scored from 5.5 to 10 marks, 14.3 percent
scored from 10.5 to 15 marks and 2.8 percent scored from 15.5 to
20 allotted marks. Generally the performance was average.

The candidates who scored high marks in part (a) were able to
explain the methods used to control imports. Majority of them
explained correctly at least three or more methods. The methods
which were explained by most of the candidates were: fotal ban,
fixing import quotas, imposing heavy import duties and exchange
control.

Candidates who scored all 10 allotted marks managed to explain
other methods like devaluation, government protection and
provision of subsidies for home producers. Others who failed to
score full marks interchanged the explanation on fixing import
quotas with that of total ban. Extract 10.1 demonstrates a sample of
goods answers as presented by one of the candidates with high
scores.
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Extract 10.1
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Extract 10.1 represent a sample of goods response from a
candidate who managed to explain the methods used to control
import such as exchange control, total ban, devaluation, fixing
import quota and tariffs.

Despite good performance in this part, some candidates performed
poorly because they had poor knowledge on import trade. Also

some

of them failed to understand the question and therefore

explained on the documents used in import trade like bill of lading,
certificate of origin, consular invoice, and other commercial terms
like an order point and invoice which were not the correct

responses to the question.

47



Other candidates understood the question but they failed to present
their responses correctly. Extract 10.2 depicts a sample of poor
response from a candidate who failed to identify the task on the
question and also lacked skills on the topics tested in both part (a)
and (b). In part (b) (i) the candidate’s explanations were about
company while the question was about sole proprietorship and
point number (ii) the candidate had an idea but failed to present it
correctly. The point was supposed to be sole proprietor suffered
business losses by him/herself.

Extract 10.2
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In extract 10.2 the candidate explained the documents used in
home and foreign trade such as bill of lading, invoice and an order
point in part (a) moreover, the information provided by the
candidate in part (b) was also wrong.
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In part (b), majority of candidates managed to respond to the
question accordingly. This was probably caused by the fact that
sole proprietorships are performed by many people in their
environment and candidates have enough experience on the
weaknesses associated with sole proprietorships. The candidates

who performed well managed to analyse the disadvantages as:
unlimited liability, legally no distinction between the owner and the
business, difficult to raise capital, overworked and lack of
managerial skills. Extract 10.3 below provides a sample of a
candidate’s good response in part (b) of the question.

Extract 10.3
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Extract 10.3 shows a sample of a good response from one of the
candidates who managed to analyse the disadvantages associated
with sole proprietorship.
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The candidates who scored a 0 mark explained the points which
were contrary to the demands of the question due to either poor
knowledge, misconception of the concepts or both. Some
candidates demonstrated their weaknesses by explaining some of
the advantages of sole proprietorships instead of the disadvantages.
Their responses were: enjoying all business profits, easy to make
decision and small amount of capital which is required to start a
business. Moreover, other candidates responded on disadvantages
of partnership and their responses were: profit is shared by all,
decision made with other co-partners, and the business has
unlimited liabilities. Extract 10.4 is a sample of poor response from
a candidate who mixed the advantages of partnership with
advantages of sole proprietor ship.
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Extract 10.4
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Extract 10.4 illustrates poor response from a candidate who mixed

disadvantages of partnership with advantages of
proprietorships.

51

sole




3.0

4.0

CONCLUSION

The analysis of the candidates’ performance in the CSEE 2014 Commerce
subject indicates that the general performance of this examination was
average.

The analysis indicates that the candidates performed well in the questions
which were composed from the topics of Wholesale Trade, Banking and
Transportation. Their good performance was contributed by their ability to
identify the task of the questions, sufficient skills and knowledge
demonstrated by the candidates on the commercial concepts.

Moreover, the topics with an average performance were: Import and
Export Trade, Production, Business Units and The Scope of Commerce.
The candidates had partial knowledge on these topics tested. However, the
performance of the questions from the topics of Stock Administration,
Insurance, Marketing and Management and Organisation was poor. The
reasons for poor performance in those topics were inability to identify the
tasks of the questions, poor knowledge and skills on the concepts,
incompetency on simple calculations, misconception on the concepts and
misinterpretation of the questions. The candidates’ performance in each
topic is summarised in the attached Apendix.

It is expected that the feedback provided in this report will enable the
education stakeholders to take appropriate measures to improve the
performance of Commerce subject in the future.

RECOMMENDATIONS

In order to improve candidates’ performance in future the following are
recommended:

(a) Candidates should carefully read the examination questions so as
to identify their requirements.

(b) Teachers should guide students on how to identify and respond on
the questions.
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(c) Some candidates have shown poor mastery of English Language,
basing on this fact; candidates and teachers are advised to
initiate/develop various programmes which will help to improve
students’ English Language skills.

(d) Candidates should be encouraged to read various commercial
textbooks and reference books to broaden their knowledge.
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Appendix
Analysis of candidates’ performance question wise

Percentage of
Question | candidates who
Number | scored an average of
30 % or above

S/N Topics Remarks

Import trade and
3 Business Units 10 41.6 Average
The Scope of Commerce
4 and Production 4 329 Average
5 Import and Export Trade. 2 31.7 Average
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